3BeHO

Ne 1 3BeHO 2 3BEHO 3 3BEHO (%%C;if%
CBA3U
1 | 4p’yi+2pyi+yi=%| 2PY2 + Y2 =% PYs =Xg Yiroe = X0
2 | 2py1=X 2y, = px, P2Ya+ Vs +Ya=2% | Yyoe = 2X,0c
3 | pPy,+3py; + Yy = 2% 4p%y, +3py, + Yy, =5%, Y3 =6X3 Yaoe = Xuoe
4 | PPy +yi=2x | 3PY2=X% Y2+ Y3 =PX3 | Yioe = 4o
5 | Bpy,+y =2x | 9P V2 +APY2+ Y2 24Ky — . Y. =3
6 |5PY1=X 4p®y, +5py, + Y, = 28Y3 = Xy Y sioe = Xaoc
7 |4y =pX 9 p2y2 +Y,=5x%, | 6py;=X3 Y oe =10X,,,4
8 | TPY1=X% 2pYy + Y2 =3PXy | 4p?Ys + Y3 =3X%3| Yaoe =Xoc
9 | 16p%y, +5py +yi=6x 4PYo + Y, =3%Xy | 5PY3 + V3 =4PXs| Ve = Xy
10 | 8py;+ Y1 =2pX | 25p°y, +6py, + Y, =3xY3 =8%3 Yaoe =0, 7X,04
11 | y;=0,5% 16p2y, +9py, + Y, =4%, | T PY3 = X3 Y ioe =0,9X,,0k
12 | 8py; =X 3pY, + Yo =5PX; | 16p%Y3 + Y3 =8X3 | Yioe = Xuoc
13 | 6py1 +Y1=2px | PYp +Y2 =4X%, 9pys = X3 Yaoe = 02X,
14 | 4p%y +3py, + Y1 =5% TPV, =X, PY3+Y3=4X3 | Yioe = Xuoc
15 | 6py; =% Ap2Y, +2pPYs + Yo =X, | Y3 =0,4X5 Yoe =2X,00
16 | 3py1 + Y1 =5pX D2y, +3pY, + Vo =2%, | 7 PY3 = X3 Yooe = 4%,
17 | 16p2y, +y, =8% | 5PYs + Yo =4pX, | y3=08% Yoroe = Xoroe
18 | 7py1=X P2y, + Py + Yo = 2%, Ay; = pxg Y iioe = 3% 00
19 | 25p®y; +6py; + Yy =3% PYo =X, 20Y3+Y3=X3 | Yioe = Xuoc




